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Zits • Jim Borgman & Jerry Scott
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Hagar the Horrible • Chris Browne

Sally Forth • Greg Howard

Blondie • Chic Young
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Bridge

 Famous Hand

This deal occurred during the match 
between Italy and the United States in 
1951. The Italians scored heavily on 
the hand but lost the match by a wide 
margin on one of the few occasions 
through the years that an American team 
triumphed over Italy.

  The bidding at the first table went as 
shown. Eugenio Chiaradia’s notrump 
overcall, as played by him and his part-
ner Augusto Ricci, indicated a long suit 
in either hearts or clubs.

John Crawford and B. Jay Becker 
were respectively North-South for the 
U.S. and wound up in six diamonds. 
Ricci, having listened carefully to the 
bidding, then led the ace and another 
spade, ruffed by East for down one. As 
the East-West cards were divided, the 
U.S. pair could have made six spades.

	    At the second table, where an 
Italian pair held the North-South cards, 
six diamonds was also reached -- but 
the outcome was not the same. Here, 
the bidding went:

	    South	 West	 N o r t h 	
East

	    1 [H]	Pass	 2 [D]	 Pass
	    3 [D]	Pass	 3 [S]	 Pass
	    4 [C]	Pass	 4 [S]	 Pass
	    4 NT		 Pass	 6 [D]	
	    The Italians at that time al-

ways bid their shorter suit first with a 
very promising hand, which accounts 
for North’s initial response of two dia-
monds.

	    The effect of this was that North 
wound up as declarer at six diamonds 
instead of South. With East on lead, six 
diamonds could not be defeated, and 
Italy gained 1,470 points on the deal.

Family Circus • Bil Keane

Cryptoquip
THANK YOU FOR 

READING THE

YOUR LOCAL SOURCE FOR:
NEWS     •     WEATHER

SPORTS
155 W. 5th   •   785-462-3963

Mother Goose and Grimm • Mike Peters

Baby Blues • Rick Kirkman & Jerry Scott

This is a logic-based 
number placement puz
zle. The goal is to enter 
a number, 1-9, in each 
cell in which each row, 
column and 3x3 region 
must contain only one 
instance of each nu-
meral. The solution to 
today’s Sudoku puzzle 
is right.  

Tod the Dinosaur • Patrick Roberts
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